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Zakladni skola Zachar, Krom¢étiz, prispévkova organizace

Predmét: Anglicky jazyk

Ro¢nik: osmy

Pracovni list

Opakovani vzdélavaciho celku: Past participles — irregular verbs

Write the past participles of the following verbs into the crossword:

1 | b | R | v E N
2 H E L D
3 C A U G H
4 G | V E N
5 | ¢ | H 0 S E N
6 D O N E
7 T 0 L D |
8 | L E A R N T
9 T H R O W N
10 S A | D
11 S E E N
12 T H O U G
13 s | T 0 L E N
14 R | D D E N
15 S T O O D
16 S H O N E
17 | W o) K E N
18 B E C O M E
19 E A T E N
20 W R | T T
Y
21 T A K E N |
22 L E F T
1 drive 13 steal
2 hold 14 ride
3 catch 15 stand
4 give 16 shine
5 choose 17 wake
6 do 18 become
7 tell 19 eat
8 learn 20 write
9 throw 21 take
10 say 22 leave
11 see

12 think




Zakladni skola Zachar, Krom¢étiz, prispévkova organizace

Pracovni list
Predmét: Anglicky jazyk
Roc¢nik: 8. A
Opakovani vzdélavaciho celku: Irregular verbs

1) Write the past simple and the past participles of these verbs:

rise rose risen
forgive forgave forgiven
mistake mistook mistaken
beat beat beaten
swear swore sworen
tear tore torn

sink sank sunk
stink stank stunk
forbid forbade forbidden
shine shone shone

2) Revise and learn all these irregular verbs.

3) Study GRAMMAR SUMMARY in your workbook p. 74 — 83,

Dalsi materialy k tématu najdete v pracovnim seSité str.: 74 - 83
Vypracovala: Stanislava Urubkova
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Zakladni skola Zachar, Krom¢étiz, prispévkova organizace

Pracovni list

Predmét: Anglicky jazyk
Rocnik: 8. A
Opakovani vzdélavaciho celku: Present perfect tense

Choose the correct verb from the box and complete the sentences using the present perfect:

answer break buy clean empty
leave lose finish walk

1. Tom has emptied the rubbish.

2. Claire has answered all the questions.
3. | have walked ten kilometres.

4. They have lost their car keys.

5. John has bought a new jacket.

6. Diana has broken her arm.

7. Bill and Tim have cleaned the kitchen.
8. The train has left the station.

9. Karen has finished her violin practice.

Complete the sentences. Use the present perfect — affirmative or negative:
1. My mum isn’t at home now. She has gone (go) to the supermarket.
2. So far this month | have seen (see) three films.

3. I’m hungry. I havent had (have) my lunch yet.
4. | haven’t seen (see) Helen yet today. Is she at school?
5. Our football team has won (win) all its matches so far this year.

6. Idon’t know your boyfriend. | haven't met (meet) him yet.

Vypracovala: Stanislava Urubkova



